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1. Which of the following stalements is rue?

(a) The larger a nation's marginal propensity to consume, (he smaller the
open-economy multiplier.

(b) The smaller a nation's marginal propensity (o imporl, the smaller the
open-economy multiplier.

(c) The larger a nalion's marginal propensity (o exporl, the smaller the
open-economy mulliplier.

(d)The larger a nation's marginal propensity (o import, the smaller the

open-economy multiplier.

2. If investment is perfectly inelastic (o interesl rate changes, then
(a) monelary policy is most effeclive.
(b) fiscal policy is ineffective.
(c) fiscal policy will be less effective since there’s a crowding-out effect.

(d) fiscal policy is most powerful.

3. If inflationary expectations increase, (he Phillips curve will
(a) become verlical.
(b) shifi to the right.
(c) shifi (o lhe left.

(d) become upward sloping.

4.1f the economy is operaling close lo capacily, an increase in aggregate demand
causesa__ change inthe price level and __ change in outpul.
(a) small,; big
(b) small; small
(c) big; small

(d) big; big

5. Which of the following would cause the shor(-run aggregate supply curve (o shifi
to the right?
(a) An increase in taxes
(b) Higher energy prices
(c) Increases in government regulation
(d) Retired workers reentering the labor force
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6. An economy is not able lo develop because of a lack of capital. Which of the
following strategies would you suggest this economy pursue?
(a) Increase the political stability of the economy.
() Lower interest rates.
(c) Impose quotas on how much capital can be imported from other countries lo
reduce dependency on foreign capital.
(d) Nationalize private enterprises because the government seclor is not motivated

by profit maximization.

7. 11 the interest rate is so high that it is alfecling economic growth, the recommended
policy action should be
{(a) an expansionary fiscal policy.
{b) an expansionary monetary policy.
(¢) a contractionary monetary policy.

(d) the demand for money should be increased.

8. If no foreign companies produce in a country, bul many of the country's companies
produce abroad, then it is safe to say that
(a) the country's GNP exceeds its GDP.
(b) the couniry's GDP exceeds its GNP.
(c) the country's GNP and GDP are equal.

(d) the country’s GDP equals its domeslic income.

9. 11 Sara's total consumption is $1,500 a month, the fraction of her income that she

consumes is 60%, and her income is $2,000, the amount of money she consumes
when her income s zero is

(a) $200.

(b) $300.

(c) $500.

(d) $1200.

10. The aggregale consumption function is a function of disposable income: C=
1,000 + .9Yd. 1fincome is $3,600 and net taxes are $600, consumption equals
(a) $2400.
(b) $3400.
(c) $3700.
(d) $4000.
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1. Given the following information aboul (he markets of an economy: (25 51)

2.
Goods Markels _Money Markel
C=225+0.75Y, MY =600+ 0.6Y ~200r + P
=600~ 200r M* =1000
G =300

T= —100+0.2Y

(Y, : disposable income, 1: interes( rate, in % » P: price level, Y: income,

C: consumption, 1; investment, G: government expenditure, T; lax)

(1) Suppose P = 100. Obtain the equations and draw the graph for IS curve and LM

curves. What are the equilibrium levels of output and interesl rate?

(2) Suppose P =200. Add the new LM curve (o the grapli. What are the new
equilibrium outpul and interest rate?

(3) Draw the AD curve according to (1) and (2).

(4) Analyze the effects of tax cut on outpul and interest rate. Show the change on
IS-L.M and AD curve.

(5) Analyze the effecis of open-market-sale on output and interest rate. Show the
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